
SNOWFLAKE WITH SEQUINS Dagmar Pezzuto 2013

ABBREVIATIONS

CH    = chain

R   = ring

HCL = hanging cluny 

 CL =  (cluny)

 HCL = (hanging cluny)

Clr = close ring

+   = join

 -    = picot
     = small beads

   = beads nº 8 

  = sequin with small beads

PATTERN

Round 1

CL1 =  20 passes + bead nº 8

HCL2 = 20 passes -  + CH 1

HCL3 = 20 passes -  + CH 1

HCL4 = 20 passes -  + CH 1

HCL5 = 20 passes -  + CH 1

CL6    = 20 passes .

Round 2   36 beads in shuttle 1.

CH = small bead 1ds small bead
1ds .......(9x) + - HCL2.

Continue all around.

Round 3

CH = 10ds sequin ( ver vídeo) 10ds sequin 10ds sequin 10ds sequin 2ds.

R = 1 ds( bead nº8) ---- + bead -----1ds.Clr.

CH = 2ds sequin 10ds sequin 10ds sequin 10ds sequin 10ds + CL (6X).

Optional: Make a chain the size and pattern according to your preference 

In sample shown I used the zig zag with a small ring in the end.


